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2520 sk EeHT 0 1361
2530 = /INRHET 1 394
2540 FHi5HT 0 379
2550 ;HHET 0 213
2560 = SHT 0 869
2570 X &HT 0 76
9999 ME R X ET 1 5369
3010 X#FHET 0 925
3020 ;BT HT 0 916
3030 _EEFHT 0 761
3040 &S _LHET 0 126
3050 B AT 0 2295
3060 B THT 1 453
3070 wyESEAT 0 432
3080 HHHHT 1 373
3090 H A E AT 0 395
3100 HhFaHET 0 470
3110 EHAILHET 0 386
9999 /\FHERXET 2 7532
3510 2R LHT 0 164
3520 £ R chfT 0 320
3530 27 THT 0 932
3540 =B KHT 0 355
3550 AETHT 1 760
3560 = T ERAT 0 266
3570 = T AT 1 722
3580 FLIFTHT 0 555
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3590 EHT 0 11
9999 S HKXE 2 4085
4010 41| RET 0 298
4020 {E&HT 0 86
4030 5HT 0 222
4040 = HEAHT 0 192
4050 7K EHfT 0 396
4060 E5Z HAT 0 345
4070 JtJRHET 0 163
4080 =;T;HAMT 0 207
4090 FR ek HET 0 321
4100 g FEFOET 0 145
4110 JtFFOET 0 146
9999 &M XET 0 2521
4510 EREE—ZEHT 0 698
4520 EREE — AT 0 163
4530 EREE=ZEHT 0 162
4540 B} EErUZEET 0 112
4550 EREE FFHT 0 110
4560 AREE/EHET 0 70
4570 EREE-HZFHET 0 108
4580 AREE/\EHET 0 80
4590 EREE N FEHT 0 100
4600 EREE-+ZEHET 0 100
4610 EREE+—ZHT 0 114
4620 B+ —FET 0 190
9999 ERERXET 0 2007
5010 BRF0H £ HT 0 183
5020 BAF0BAELET 0 142
5030 FRFNREI{—HT 0 177
9999 BRFIMXET 0 502
5510 b RHET 0 205
5520 = HhHET 0 563
5530 75 = /T 0 439
5540 THEHRT 0 246
5550 EEHET 0 68
9999 EiRX &t 0 1521
6010 [E]ET/]NER 0 87
6020 [EHT 4 0 106
6030 [EET &I 0 92
6040 EiEIFHET 1 195
6050 JI|ABTE 0 143
6060 JI|EHETF 0 113
9999 BEERXET 1 736
6510 B &= A#GHET 0 22
6520 HZEAKIEHET 0 177
6530 B E AFTHHET 1 114
6540 HZEALLTHET 0 142
6550 B E A Z NET 0 71
6560 HRAIEILHET 1 111
6570 B EALERIHET 0 119
6580 H&EAEHT 0 69
6590 HZ= ATHET 0 32
6600 B &= AT 0 62
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6610 HEA _LFEHT 0 42
6620 HZE AT 0 33
6630 HZEA T FMET 0 75
6640 B &= A EitslT 0 32
6650 B ZASHET 0 2
6660 HZ A RLHET 0 21
9999 HEARKKXET 2 1124
7010 — &M O ET 0 144
7020 — R AHT 0 210
7030 — R FRHAHET 0 81
7040 — BT KEFHET 1 178
7050 — R ¥y H I HET 0 97
9999 — R&XEt 1 710
8011 IRAETFEHERLY 0 47
8012 IR AHTFHERA 0 121
8013 YR AHTFEER (& 0 72
8021 IRAHTIZEKLY 0 73
8022 IRAHTIEKA 0 3
8023 IR AHTIEKIL 0 4
8031 IRAHETH ALY 0 126
8032 IRAHTHA A 0 8
8033 FAHETH AL 0 19
8041 Y AETHLIRLY 0 51
8042 IR AHTELIRA 0 25
8043 IR AHTELIR L 0 12
8044 IR AHTELIRIC 0 22
8045 IR AHTELIR (X 0 38
8050 YR AHETIRA 1 103
8060 IR AHTFT#E 0 103
8070 JRABTER 0 78
8080 Ik AHT &k 0 41
8090 IR AHTHEE 0 35
8100 JRAHBTH /1% 0 9
8110 IRAHTJII 5 0 26
8120 IR AHETEEM 0 66
8130 YRAHETH L 0 68
8140 IRABTHFRKT 0 107
8150 IR AHBTEFRK L 1 80
9999 AKX 5T 2 1337
9010 +THTAKEH 0 570
9020 FTHTHEA 0 387
9030 +THTH & H 0 1258
9040 FTHIHEHE 0 1286
9999 FT#XEt 0 3501
9110 SRETTTH & 0 505
9120 SFETH L 0 208
9130 $EHTH & 0 145
9140 SERT T4 1 394
9150 $RHT L§% 0 480
9160 SRETERHT 0 704
9170 $RATNEA 0 882
9180 #RHTEE 1 507
9190 fRHETZ 0O 0 211
9200 $EHTEFIF 0 210
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9210 $EHET = H 0 362
9220 SxETHH 0 555
9230 $EHTE M 0 666
9240 $EHETIEE 0 263
9250 % HT At #r b 0 534
9999 S XET 2 6626
9310 E[FHET:AR 0 178
9320 H[ZHETAL 0 236
9330 FH[SAT/INE 0 149
9340 R [ZHTR 0 368
9999 G XET 0 931
9410 RETT & 0 346
9420 RHETHHE 0 210
9430 RETFER 0 140
9440 RETAEF 0 11
9450 RHETHER 0 18
9460 RET{—_HE 0 30
9470 RETEXR 0 7
9480 RHETHER 0 56
9999 RIXXEt 0 818
99999 &Rt 16 58054



